BB = e iy L,

2 AT RE U B

4

(4x — 3)(* — 2x— 2) — (5x — 1)(6x + 3)

Gx+ 3)(5x+ 1)(2x - 5)

S5x+ (2—3x)(2x— 5)(6x— 5)

(4x— 1)3x— 6)2x— 1)

(+3)x+3)2x+ 1)

H #A: ban &

(6x+ 4)(2x* —x— 1)~ (Bx +2)(3x + 2)

(F+2)3x—2)+5¢ +2x— 4

(6x° — 2)(x — 6) + 2% — 3x +3

S5x— (3 —3x)(4x— 4)(6x+ 5)

(5x° = 2)(2x +3) — 4% + 2x — 4
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BB = e iy L,

2 AT RE U B

W44

(4x— 3)(x — 2x— 2) — (5x — 1)(6x + 3)
40 — 41 — 1x+9

(3x + 3)(5x+ 1)(2x — 5)
30x° — 39%° — 84x — 15

S5x+ (2—3x)(2x— 5)(6x— 5)
—36x° + 144x” — 150x + 50

(4x— 1(3x— 6)(2x— 1)
24x° — 66x% +39x— 6

x+3)x+3)(2x+ 1)
2%° + 13%% +24x+ 9

H #A: ban &

(6x+ 4) (2 —x— 1)— Bx +2)(3x + 2)
123 — 7% — 22x— 8

(F+2)(3x—2)+5¢ +2x—4
3x> + 3x% + 8x— 8

(6x% = 2)(x — 6) + 2% — 3x + 3
6x° — 34x% — 5x+ 15

S5x— (3 —3x)(4x— 4)(6x+ 5)
725> — 84x° — 43x + 60

(5% = 2)(2x +3) — 4 +2x — 4
10x° + 1122 = 2x— 10
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